Spotlight CPD Test
Hybrid Securities – Worked solutions
Question 1

Which of the following give the three key criteria, or features, which allow a hybrid security to be differentiated from other, more conventional securities?

(a) ratings, tax and accounting treatment
(b) maturity, tax and accounting treatment
(c) maturity, ranking and accounting treatment
(d) maturity, ranking and discretion on remuneration

(e) don’t know

Answer

The right answer is (d) maturity, ranking and discretion on remuneration

These are the three features which cause the desired effect on the rating, the tax treatment and the accounting treatment of the instrument.
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Question 2

Which of the following is most important in determining that an instrument should receive accounting treatment as equity?
(a) no defined maturity and discretionary remuneration
(b) subordination to all other creditors except ordinary shareholders and no defined maturity

(c) subordination to all other creditors except ordinary shareholders and discretionary remuneration

(d) tax deductibility and discretionary remuneration

(e) don’t know

Answer

The right answer is (a) no defined maturity and discretionary remuneration

No defined maturity and discretionary remuneration are the requirements of IAS32 Disclosure and Presentation
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Question 3

From the following, which possible answer gives the two main treasury risk implications of an accounting treatment which defines a hybrid issue as equity?

(a) equity credit with the ratings agencies and qualification for fair value hedging under IAS
(b) equity credit with the ratings agencies and disqualification from fair value hedging under IAS

(c) reduced ratings for the issue and qualification as a cash flow hedge under IAS

(d) reduced ratings for the issue and disqualification as a cash flow hedge under IAS

(e) don’t know

Answer

The right answer is (b)  equity credit with the ratings agencies and disqualification from fair value hedging under IAS.

Equity credit means that the ratings agencies treat the issue as having significant characteristics of equity which can improve ratings for other issues from the same issuer.  The negative aspect of a classification as equity is that if the interest payments of the issue are managed via a swap such a swap is disqualified from a fair value hedge and the swap’s value must be marked to market through P&L.
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Question 4
Which of the following describes how a hybrid issue might be structured to be classified as equity in accounting terms but, at the same time, qualify for tax deductibility?
(a) An offshore finance vehicle issues the hybrid and then loans the funds on equivalent terms to the UK parent

(b) An offshore finance vehicle issues the hybrid and then passes the economically equivalent exposures back to the parent via an interest rate swap.
(c) An offshore finance vehicle issues the hybrid and then loans the funds to the UK parent  on conventional subordinated loan terms
(d) It is not possible to achieve both objectives.

(e) don’t know

Answer

The right answer is   (c) An offshore finance vehicle issues the hybrid and then loans the funds to the UK parent  on conventional subordinated loan terms.

Structures can be put in place to achieve both objectives simultaneously.  UK financial institutions have issued tax-deductible Tier 1 capital for some years.
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Question 5

Which of the following describes how the “no defined maturity” criteria is satisfied by hybrid instruments?
(a) They are issued as perpetual instruments

(b) They are issued without a maturity but with a coupon step-up after a prescribed number of years

(c) They are issued without a maturity but with an issuer’s call option and a coupon step-up after a prescribed number of years
(d) They are issued without a maturity but with a holder’s put option and a coupon step-down after a prescribed number of years

(e) don’t know

Answer

The right answer is   (c) They are issued without a maturity but with an issuer’s call option and a coupon step-up after a prescribed number of years.

The coupon step-up is designed to act as an incentive for the issuer to call the instrument.  A replacement provision is normally included by which the issuer declares an intention to replace the security with another with at least equivalent equity features before any redemption is important for gaining equity credit from the ratings agencies.  Also important is the absence of any trigger which might require early redemption.
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Question 6

Which of the following is most likely to be true for a hybrid that qualifies as equity?
(a) It will carry a near-equity cost of capital therefore the WACC of an issuer will rise
(b) It will have a higher cost than equivalent senior debt and therefore the WACC of an issuer will rise

(c) It will substitute for senior debt, but at a lower cost than equity so that WACC will remain the same

(d) It will substitute for equity but will gain tax deductibility and so will reduce WACC and enhance value

(e) don’t know

Answer

The right answer is (d)   It will substitute for equity but will gain tax deductibility and so will reduce WACC and enhance value.

The hybrid security that qualifies as equity is likely to maintain an risk rating of equity ( beta) as though the instrument were equity.  However, its tax deductibility will act in exactly the same way as the tax deductibility of interest according to Modigliani and Miller; at low levels of leverage risk is transferred between equity and debt efficiently with the net effect being the net tax saving.  This saving applies directly to shareholder value increases.
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